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CHEMISTRY 101
FIRST EXAM (131)

crsng Name: Date: 30/10/2013
Student no. Section:
Useful Information: Avogadro’s number = 6.02 x 10%
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Perform the following arithmetic and express the answer in scientific notation rounded to
the proper number of significant figures. Assume all values come from measurements:
3.38x0.012=A
Ax0.381=D
The value of D is:

a) 1.5x10? b) 1.6 x 10 c) 1.545 x 10 d) 1.55x 10

N

Hematite (Iron ore) weighing 70.7 g was placed in a flask. The flask with hematite was
filled with water and weighed. The weight of them was 109.3 g and their final volume
was 53.2 mL. Calculate the density (g/mL) of hematite, given that the density of water
was 0.997 (g/mL):

a) 055  b)1.33  ¢) 076  d) 4.88

3. The masses of diamonds are measured by carats. A carat is defined as 200 mg. If a
jeweler has 275 carats, what mass of diamond (in kg) does he have?

a) 55.000  b) 55,000 ¢) 0.055  d) 5.500

4. Give an example for each of the following:
e A binary compound composes of a nonmetal in 1A group and a halide which has

atomic mass 0f 79.9 amu............oi
o Ametalloid In Group 6A. ... ..o
e An element in group 3A and the third period...................c

e A molecule which is neither compound nor element..............................

5. A monatomic ion has a charge of +2. The nucleus of the ion has the mass number of 62.
If the number of neutrons is 1.21 times that of the protons. What is the symbol of this ion:

a) 55000  b) 55000 c) 0.055  d) 5.500

6. Fill in the blank:
o The formula of Iron(l11) aCetate iS..........cccvevieiiieiiiir e

o Thename Of BEO, iS....c.iuininiiii i
e The formula of Mercury(I) chloride iS............coooiiiiiiiiiiii i,
e The name of MQ(ClO4)2.6H20 iS.....ouviniiniiii e
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The number of bromine molecules exist in 3.992 g of Mg(BrO3); is:

a) 4.22x10®°  b) 1.72x10%  ¢) 43x10% d) 8.6 x 10

A 1.175 g of an alloy containing Ag gave by series of reactions 1.449 g AgCl. Calculate
the percentage composition of silver in the alloy:

a) 46.43% b) 92.81% c) 75.210% d) 0.929%

Calculate the number of hydrogen atoms required to react completely with 14 g of
nitrogen according to the following equation:

3H,+ N, — 2NH;
a) 9.033x10®  b) 6.022x10® «¢) 1.807x10*  d) 3.614 x 10*

If 5.0 g of metal oxide contains 4.0 g of metal M whose atomic mass is 96, then the
empirical formula of the metal oxide is:

a) MO b) MO, C) M>03 d) M30,4

Calculate the percentage yield of CCl, obtained, if 32.0 g of CH, were allowed to react
with excess chlorine and gave 231.0 g of CCly:

CH4+ Cl, — CCly + 4HCI
a) 75% b) 50% c) 100% d) 25%

A precipitation reaction was carried out by adding 100 mL of water to 1.0 g of a salt
mixture of Pb(NO3), and Nal according to the following equation:
Pb(NOg)Q(aq) + 2 Nal(aq) — Pb|2(5) + 2 N&NOg(aq)
If 0.30 g of Pbl2 was collected at the end of the reaction. Given that Nal was exist in
excess.
e Calculate the percentage of Pb(NOs3), in the salt mixture:

e Claculte the mass of Nal that left over as excess at the end of the reaction:

Element X has two naturally occurring isotopes, 2°X (20.021 amu) and #X (20.998
amu). If the average atomic mass of X is 20.800 amu, then the abundances of 2°X and
21X respectively are:

a) 20.26%, 79.74% b) 50%, 50% C) 79.74%, 20.26%  d) 18.18%, 81.82%






